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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
- weifl @es e mie ¢
a)  What is product differentiation?
7<) SIS A0 2

b) What 1is second degree of price

discrimination?
TSI NG A1 SRR 2
c¢) What is meant by collective bargaining?

12 TSI BIF A0 2

d) Give examples of external economies and

diseconomies in production.
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g)

h)

i)

k)

D
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What is natural monopoly?

FoIfs gL P 2

What is bilateral monopoly?

[RRIR S RUE I TRIE BRI R K

What is Lerner measure of monopoly power?
GO =T Sl AAftet e wiis IH e

What is derived demand?

Tge bifewl I et 2
What is selling cost?

fasad a7 Fie

What do you mean by ‘asymmetric

information’?
TGN O TS FI (@R 2

Define the concept of ‘group’ in the

monopolistic competition.

GBI eferifroreEm arelE P Rt
el vl |

What is 'Pareto optimality'?

'Pareto optimality' FI?
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Where does the source of excess capacity lie
in monopolistic competition?

G oAl AfsrifreneE et T8 Geofns
O T (IR 2

What is the reason behind the demand curve

assuming a kinked shape in oligopoly?
wfsrati=iferce sifnt @i @ige 2eaa FRe F e

What is moral hazards?

e e

2. Answer any four questions: 5x4=20

@-CFI o1 & Ted e ¢

a)

b)
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Explain monopolistic exploitation and
monopsonistic exploitation of labour with a
diagram.
(G focas IRy =Rire Toe 9 Ko
(A9 € GBI (0T (oI T 4 |
1)  Why does asymmetric information
between buyers and sellers tend to cause
market failure?
(@l 92K fRGFors & Sefors © (Hiel
e ! IO (el 2

i1)  How can guarantees and warranties be a

form of market signal?

RIS 3R SWIEFGE G YA AT O A
FCICF o) T T 2
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d)

A monopolist will never be in equilibrium on
the inelastic portion of the demand curve.

Explain.

@FTe a3 HIl AT FA93 vifzwER
R GZAT ST SRIAGY AFCe G = | i
4|

Using a suitable model analyse the

phenomenon of price leadership in oligopoly.

ToRE OER ARIE) Sfetsisifers v s
(TR FRIF om0

Show that there is no unique supply curve for

a monopolist.

@A @ GIEA IR @il WS e
@IS @A A 7 |

Write a short note on collusive oligopoly.

@io-eTEs Sfercalioifer el eoia afh
Y DIl @Y |

3. Answer any two questions: 10x2=20

@I v 2ed Tea vie ¢

a)
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Derive the equilibrium conditions for (i) the
multiplant monopolist and (ii) the

discriminating monopolist (third degree).
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d)

478/Eco.

(i) @i Teome F@RHT GHEha TR
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Explain diagrammatically how monopoly
causes misallocation of resources and thereby

causes loss of social welfare.

IO FIANE [FOIE@ T 9% G3g
LGS ANIEE FeER Hodigs 2@ AF ©f
oeoz T+

Compare the effect of lump sum profit tax vis-
a-vis per unit sales tax on the optimal price

and output decisions of a monopolist.

GG G563 S I WIS @ “Afsiel Praicea
@9 QI AR IR 21 '€ I &ifs @Rl [
IS NI Qoo T |

1)  What are the conditions for a Pareto
optimal allocation of resources in an

economy?

SR 2! I BLAMCL B Gl
J PSS ARG 2

11)  Bring out clearly the relation between a

contract curve and the corresponding

utiliy possibility frontier.
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